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Time /¥Wd : 2 Hours /9% Full Marks /quiis : 300

Rote/Tz: (1)
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(358)

(2)

(3)

March 5,

Attempt as many questions as you can. Each question carries 3 marks. One
mark will be deducted for each incorrect answer. Zero mark will be awarded
for each unattempted question.

ARrFRE T B T B R TS B TAF WA 3 F F ¥ TS TG IW F
forw T o W IO TRF gAiE TR H W IF A

If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

qfe uwis JHfca® I e IW F Fae wdia g, @ e ad 3= 3

This paper comprises of Five Sections. Sections [ and II are compulsory
whereas only one Section out of III, IV and V is to be attempted.

YR AT NS QR H R G I TE I Aed E s @ L, VI VH @
fret T T I AW R

Section—I

Grg—]

MENTAL AGILITY
{Compulscry for all)

1999 was on Friday, what day of the week will be on March 5, 2000?

{1) Sunday (2) Monday (3) Tuesday (4} Wednesday

afe 5 7, 1999 H [EEER 91, W 5 W, 2000 H UEE F ORFA-E AL BW?

(1) &R

(2) |WER (3) HTHER (4) FEER

1 {P.T.0.)
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(358)

Which one of the following is used as bio-fertilizer?

(1} Clostridium (2) Azolla {3) Urea {4) Bagasse
rfafag & & feus S9-3aw * =0 § wm e S g
(1) Farfefem (2) st (3) gfen (4) ST

If 6 girls complete a work in 15 days, then 9 girls will complete the work in
(1} 10 days (2) 12 days {3) 8 days {4) 6 days

afy 6 wiforernd forelt wm o 15 A F oof = @ €, @ 9 wfewed B 3w Fw W o w0
T frar fom wme

(1) 1o f& (2) 12 f& (3) 8 fa 4) 6 f&=

Which of the following pairs is correctly matched?

(1) Malaria : Virus (2) Smallpox : Plasmodium
(3) Goitre : Fungi {4) Leprosy : Bacterium
frafafea & @ S9-a1 g gafma 87

(1) weifer : fammy (2) = : WAEHEITSAH

(3) W : wah (4) T8 : IfEm

If a=b*, b=c¥ c=a% then xyz is equal to

(1) -1 @ 0 (3) 1 (4) infinite
R a=b*, b=cY, c=a®, W xyz Fa*® A BM?

(1) -1 2) 0 (3) 1 (4) @
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Global warming is due to the release of which gas?

{1} Hydrogen {2) Oxygen (3) Nitrogen (4} Carbon dioxide
Ay o w9 F sl @ ofom 77
(1) TrEgeA (2) AT (3) TSN (4) FEA SRS

The average of 11 results is 30, that of the first five is 25 and that of the last five is 28,
The value of 6th number is

11 ufeore} w1 afred 30 2, foed wom dig & 25 3K 3ifm oig F 28 &1 68 T'wm 1 A R

(1) 65 (2) 60 (3) 55 @) 70

Which national highway connects Varanasi and Kanyakumari?

F-w g Ao ot FRgE w27

(1) No. 4 (2) No. 5 (3) No. 6 (4) No. 7

Choose the term which will continue the following series

30 9 W WE R, W fF Fefafag gwen # S @
B,D G I L?

(1) M (2 N (3) O 4} P

World celebrates every year 5th June as
{1) World Environment Day (2) World Forestry Day

{3) World Water Day {4) World Population Day

3 (P.T.0.)
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fova o w@=% ad 5 S w o w1 F wART WA 27
(1) Tavg wafaw fRam (2) fawm ot feaw (3) fam va Rew @) fve swden fag

11. If the sides of a triangle are doubled, then the area becomes

(1) 3 times (2) 4 times {3) 2 times (4) same
R @ Py A ged = Rt W S, A d wg W @ s R
(1) 3 7w (2) 4 T @) 27w (4) =&

12. Find the odd one out in the following

(1) Potato (2) Ginger (3) Beetroot (4} Brinjal
frafaflge 3 @ fauw = 3@ =&
(1} o9 (2) g (3) TR (4} S

13. The cost of an article sold at 20% gain for Rs 360 is

20% @ W 360 Fo § =t M TH g N WE B
(1) Rs 400 {(2) Rs 260 (3) Rs 300 (4) Rs 200

14. Which of the following is not correctly matched?

(1) Vitamin A—fat soluble {2} Vitamin C—water soluble
{3) Vitamin B—fat soluble (4) Vitamin D—fat soluble
frerfafian 3 @ 9w @0 & gAfew = 27

(1) faafm A—=w & gania (2) fefim c—a & gamiw
3} faft B—aw 4 gorsfta (4) faafm D—aw # goeew

(358} 4
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The compound interest for Rs 1,000 at 10% for 1% years when interest is accounted at

every 6 months is

a2 s B Mo AT 6 AR H h S g, @ 1,000 Te H O10% F W F 1% =6 W

WhalG s ?

(1) Rs 1,150 (2} Rs 1,158 (3) Rs 160

Chandra Prabha Sanctuary is located at which place?

(1) Nainital (2) Kameng {3) Uttarkasi
g drgall fre | a7
(1) e (2) T (3) Saesrf

The average of first five prime numbers is
oM uig vy sEEed = ofud R

(1) 36 (2) 56 (3) 46

(4) Rs 167

(4) Varanasi

(4) St

4) 65

In population among all States in India, Uttar Pradesh occupies which place?

(1) First (2) Second (3) Third

WRE & Ot Tt § SR Wew Seeed $ g & e wm W ge

(1) wm ) fedm (3)

Which of the following is not a fibre material?

(1) Jute (2) Silk ~ {3) Rubber
frffen 3§ & 9 w 4y @ T 27
(1) (2) R 3) =g

5

(4} Fourth

(4) wgd

(4) Cotton

(4) HR

(P.1.0.)
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20. The missing number in the following sequence is
frafafea wn o gqu den B
4,9, 25,7, 121, 169

(1) 45 (2) 36 (3) 40 (4} 49
21. Who among the following was recently chosen for the Bharat Ratna, the country’s
highest civilian award?
(1) Ustad Bismillah Khan
(2) Madurai Shanmugavadivu Subbulakshmi
(3} Pandit Bhimsen Joshi

{4) Sushri Lata Dinanath Mangeshkar
T & Fafafee 4 @ B 3w & waiw Rifve R s = & foe g o a7

(1) &g fefdg am (2) TR ey gegawt
(3) ufea «fimaw sisft (4) gt a1 GG TIEER

22. The missing term in the following

Light : Dark : : Knowledge : ?

(1) Study {2) Ignorance (3) Learn (4} Read

FrafaRas % @ g0 v §
WFIST ; EFR ¢ : JH ¢ ?

(1) e (2) omm (3) Hram {(4) T

{358} 6
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The sum of ages of A and B is now 110 years and their ages 20 years ago were in the
ratio 4 : 3. What is the age of A?

(1) 40 years (2} 65 years (3) 38 years (4) 60 years

AT B H oy W AN qawe GRE A 110 9 7 TH 20 N qd IR A W IITG 4:3 90
A H g w® W R?

(1} 40 =8 2) 65 =¥ (3) 38 I (4) 60 =9

Choose a word from the following alternatives which is similar to the given 3 words

Liver : Heart : Brain

(1) Hand {2) Kidney (3) Leg {4) Skin

Fraffgd fowcel 4 © 36 weg % gaq w A fw w3 el % w9 €
aph : gl : uleasw

(1) & (2) & (3) dfa (4) =

Which of the following diagrams correctly represents cats, dogs and animals?

freferfian § } wh-w o R, $ o wged W wd on @ Shff w2

{1) @ (2)
(3) (4) @ O

7 (P.T.O.
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26.

27.

(358)

Section—II
wug—II

CHEMISTRY
{Compulsory for all)

Assertion, A : CH,CICOOH is 100 times as strong as CH3;COOH while CHC1,COQOH is
still stronger. The CCl;COOH is 10000 times stronger than CH3COOH.

Reasoning, R : Electron-withdrawing halogens strengthen the acids.
(1) A as well as R is correct and R is the correct explanation of A

(2) A as well as R is correct but R is not the correct explanation of A
{(3) A is true but R is false

{4) A and R, both are false

Assertion, (S§R) A : CH,CICOOH # @4l CH,COOH & @-Tn =fus § v=i%

CHC1,CO0H # digm aft aifis 81 CCl,COOH &I diwar CH,COOH & 10000 T ifees
2

Reasoning, (%) R : FoNH & WRA JI01/fem $0 & 1 g & digar ag orh
2!

(1) AR 3 & et A & fog R S +ror ¢

(2) A 3R R ¥ & ok A F Ry R ¥ wrowr ol R

B) Avaefrg Ry3 2

(4) A 3R R i e d

Assertion, A : The solubility of MX is K/
Reasoning, R : Solubility product of MX =K, =[M"* ][ X~ ] =[ Solubility |

(1} A as well as R is correct and R is the correct explanation of A

{2) A as well as R is correct but R is not the correct explanation of A
(3) A is true but R is false

{4} A and R, both are false
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Assertion, (W) A : MX & fademn K2 R

Reasoning, (®RU1) R : MX 1 femar-gomea = K, =[M*|[X™ | =[fFewan® R
(1) ASRRHE &iw & 3R A S o R 3 #rwr 2
(2) A3t R G 3% & 3 A & T R &% s =t

B3) ATg 2 Frg R 2
(4) A 3R R 3 7o €

Which of the following is true for a catalyst?
(1) It does not alter the rate of reaction

(2} It alters the rate of reaction and provides an alternative path of lower activation
energy

(3) It always increases the rate of a reaction

(4} It lowers the energy of activation

2 fow gu § /@ FH-w = O *F 0 TR

(1) =8 W fran & 1ifs 7 acom 2
(2) = wre fra f iy B oagad ? sl ww Slw-sel w ueEs/gEn TR gd ww R
(3) wg wrEdt fra i iy = wer g @
(4) Tg SAfd-Feil I GHAT B FH BT B

Which of the following is a fertilizer?

(1) Only urea (2} DDT (3) Gammexane {4) Urea and DAP
T § frew g f we @ da ge
(1) %aa giEm (2} Eodlodto (3) MR (@) Ihem st Sowotdio

9 (P.T.0.)
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30.

31.

32.

(358)

For the reaction, A — B in which a mol/dm? is the initial concentration of A and after
time t, x mol/dm? of A decomposes. The rate of reaction depends on the first power of A
for which the rate constant, k is

sfafrr A- B # A 1 TS TR, ¢ mol/dm® % IR W t F W, A F x mol/
dm?®, swEed grar 81 afufRn ft ofd (k) A F e e W PRk =l R, e T wies

TR T TR 8
(1} k=~(1/t}log[(a-x)/a] (2) k=-(1/t}log[a/(a-x])]

(3) k=(2-303/t)log[a/{a—x}] 4 k=(2-303/t)log{(a-x}/a]

Which one of the following is always true for a spontaneous reaction, A > B?

(1) —d[A]/dt=—d[B]/dt (2) AG decreases
(3) AS increases (4) AH decreases
wa: AtuiEa, A B % T ®-u1 99 g8 gar &7

(1) -d[A)/dt=—-d[B}/dt (2) AG 5T
(3) AS %1 5gW (4) AH & 9o

Assertion, A : For the photochemical reaction : A{+hv) > B, the quantum yield is
d[B]/dt.

Reasoning, R : The rate of formation of the product is given by d[B]/dt while the
intensity of the absorbed radiation is I.

(1} A and R both are correct and R is the correct explanation of A
{2) A and R both are correct but R is not the correct explanation of A
(3) A is true but R is false

(4) A is incorrect while R is true

10
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Assertion, (SY) A : TEWI-TRWEHS afifEn @ A{+hv)o> B & fou, =wm @R ug R
d[B}/dt
Reasoning, (®WUr) R : NfiE & T & R d[B]/dt 3 dreft g3 fafmor &t digar 7 &

(1} A3t R3A 3% € 3 A & g R & R 2
(2) A 3 R 3 36 & 3k A & fog R 9% wrw 9 R

B Aga g RIS &
(4} A 7o B o R Ot R

Which of the following is correct/close for the pH value of 103 M aqueous solution of
NaCl?

1073 M NaCl & urft § @ &t pH @&l a1 3u& Frhe S9-w1 87

1) 3 2) 11 3) <7 4 7

Which of the following is the incorrect match for DNA and RNA?

‘DNA RNA
(1) It exists as double helix It exists as single chain
{2) It exists as single chain It exists as double helix
(3) Sugar is deoxyribose in it Sugar unit is ribose in it
(4) DNA test is used in investigation RNA test is not used in investigation
frm # & DNA 3R RNA & fm lv-w1 7o Ra @@ ®7?
DNA RNA
(1) @8 gd fewm d ANa d g swhelt 3 A g #
(2) 7% srbeh 9= # @ & 77 dsdt fomm # A9 #
(3) wod =il oriaedimary ¥ T I T R
(4) DNA ¥= s § %m omar 3 RNA ¥R 390 % #W 7 o7ar 3

11 (P.T.0.)
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35. Which one of the following is incorrect?
{1) Amines are acidic in nature due to the presence of lone-pair of electrons on N

{2) Lower aliphatic amines are soluble in water due to their ability to form H-bond
with water

(8) Ammonia is protonated in its agqueous solution
HNH, +H,0 < HNH} +OH"

(4) Amine is protonated in its aqueous solution
RNH,, +H,0 < RNH% +OH~

4 8 f9-m e R
(1) TFE Rl W A ¥ wro anfig G @ €
@) et ol anfm ot A Hosfe = & amar % % s@ § gowha @7 d
(3) P o ¥ e F W @ R
HNH, +H,0 < HNH} +OH"
(4) snfg oFt & wa § DY far 2
RNH, +H,0 < RNH} +OH"

36. For a gaseous reaction, A— B, the correct rate of reaction is given by
w e ) afufrm, Ao B ¥ fou $R-@ afvfen @ o wd@ 7
(1) [-d[A]/dt]-[-d[B]/dt]=0 (2) -d[B]/adt

(3) —d[A]/dt=d[B}/dt (4) d[A)/ dt=-d|B]/dt

37. Which of the following is incorrect for transition metals?
(1) Oxidation states of Mn are 2, 4, 6 and 7
(2) Transition metal ions exhibit variable valencies
(3) 3d*4s? is the other electronic configuration of chromium
(4) Co has an oxidation state of 3 in [Co(NHj)s]*3

(358) 12
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A~y % fau e ¥ F-w e B 7

(1) Mn & srfedee fifa/omeen 2, 4, 6 3t 7 @

(2) Twwu-oTg ¥ affaw o uftedi waemar @ ®

(3) wwiftEm *1 =Teh WETHF-fa=m 3d* 45 2

(4) Co i afadiwur feorfa /2w [Co(NH,)6] % & 3 B

Under ordinary conditions water is a liquid. This is due to the presence of
(1) H-bonding

{2) molecular association

{3) H-bonding and molecular association

(4) sp? hybridisation and molecular association

o Fed § Ot za }1 S SR @

(1) H-sm (2) omufaE O

(3) H-d7 qun anvifas FIvE (4) sp® "W qUT UIAF WA

Which of the following is true in its reaction with NH;?

(1) HCHO is similar to CH,COCH,

(2) CH;CHO differs from CH,COCH,

{3) Only HCHO gives hexamethylenetetramine
(4) HCHO and CH3;CHO both give urotropine
= & & NH, % g sifufen & @q-m o &0
(1) HCHO @ CHZCOCH, @ & §

(2) CHZCHO @ CH,COCH,; T# <& = 2

(3) %a@ HCHO aomfyefimegrfa ar &

(4) HCHO @1 CH,CHO 2+ qlgda 23 #

13

(P.T.0.)
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40.

41.

(358)

Assertion, A : Methyl orange is an azo dye.
Reasoning, R : Azo dyes contain —N=N— as a chromophore.

(1) A and R both are correct and R is the correct explanation of A

(2) A and R both are correct but R is not the correct explanation of A
(3) A is true but R is false

(4) A is false but R is true

Assertion, (W) A : Wfie oMw ¥ & 2l

Reasoning, (&R01) R : T 38 # —N=N— & HA®R J@ A 2

(1) AR R A &% € ok A & g R = +rw @

(2) AR RAT &F € 3k A F o R 9% =wwr = 2

3) Ama R frg Rz @

4) ATea g e Rl B

Which one of the following is correctly named in the light of IUPAC nomenclature
system?

TUPAC ¥ § 9 f g¢ @iF% & m 4 +9-w1 =dt 27

(1) (i,‘Hz—ﬁ:H—(liH-—-—CI—Ia Dichlorobromobutane /SEFasNeH
Br Cl CI

(2} CH;—CH,—CH,—CH,Cl 1-chlorobutane/ 1-FAUgA

{3} CH;—CH,—CH=CH, 1-butylene/ 1-sgfoea

(4) CH;—~CH=CH—CH, 2-butylene/2-sgfeet

14



€2,

£358)

10U/102/22 Set No. 1

Primary and secondary alcohols are obtained by reducing acid chlorides, aldehydes, or
ketones with LiAlH,. Which of the following is incorrect?

i FaREe, YfeeeEs ol R ¥ LIAIH, H degh ¥ svewm w wufs qn il
Tehigia 2d | T § @ S-w Tew 27

(1) CH,COC!+4{H]-> C,HsOH (Primary/sigfirs) + HCl
{2) CH4CHO +2[H]—> (CH3),CHOH (Secondary/feah)
(3) CH,COCH, +2[H]—> (CH,),CHOH

{(4) CH,CHO +2[H|—> C,Hz0H

Which is the correct match for the following?

Acidic Basic
(1) R—COOH and C4H;—OH N,O5 and MgO
(2) SO, and N,Og MgO and CaO
(3) R—OH and NH, R—COOH and C Hg—OH
(4) CaO and N,Og P,05 and SO,
= 4 ¥ *H- @ U9 @ g7
vfafss Iaw
(1) R—COOH &R CgH;—OH N,O5 3R MgO
(2) SO, 3 N,0O MgQ 3R CaO
{3) R—OH R NH, R—COOH 2R CcHs—OH
(4) CaO T N,O5 P,05 3R SO,

Which of the following is incorrect?

(1) In cold and dilute nitric acid Mg +2HNO;=Mg(NO,), +H,

(2) In cold and dilute nitric acid Mn +2HNO;=Mn (NO,}, +H,
(3} In concentrated HNO; Cu+4HNO;=Cu (NOj;}, +2NO, +2H,0
(4) Cu+2HNO;=Cu (NO3), +H,

15 (P.T.O.)
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45.

46.
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9 @ g ¥ @ FN-w e 7

(1) 32 M 7 TESE wE § Mg +2HNO,=Mg(NO;), +H,
(2) 32 W ag I5RSE TR ¥ Mn +2HNO;=Mn (NO;), +H,
(3) M@ HNO, # Cu+4HNOz;=Cu (NO;), +2NO, +2H,0

(4) Cu+2HNO,=Cu (NOj), +H,

Which one of the following is incorrect for the isotopes?

(1) Carbon 2C and !3C (2} Nitrogen '*N and !°N

3) Oxygen '°0 and 70O (4) Chlorine *>Cl, 3Cl and 37Cl
= fd g 1 @ omgERm & wia #W-w e R7

(1) Fedq 2¢ & B (2) Tgem N etk N

(3) srfadE %0 sk 0 (4) = B¢y, el @ el

Which of the following is incorrect?
fm @ ®-w o R?

(1} R—CH,OH—K,Cr,0,/H,80,—> R—COOH

{2) R—CI:HOH—KQCI'QO?/ HQSO4—) R———C|2=O

R R
(3) R—(llHOH-—Cu/S'?S K- R—(IL‘=O+I-I2
R R

(4) R—CH,0H—K,Cr,0,/H,;S0,— R—CHO

16
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47. Which of the following is the correct match?

Name of reaction Chemical equation
(1) Heat of formation C (graphite] + 2H,{gF=CH,{g) 3H}298 = -74 8 kJ/mol
(2) Heat of combustion CO,(g)+ 2H0(IF=CHy(g)+ 205(g);  AH[ pgg = 890- 4 kJ/mol
{3) Heat of neutralization 2H,0({i) = H* (ag}+ OH™ {ag); AH =57.32 k.j/mol
(4) Heat of solution HCI. 25H,0=HCl(g) + 25H,0 (I }; AHP= 695 kJ/mol
7 4 @ w9 o o« @ &7

ST F T TEERHT G
(1) HoEA-Fw C (graphite) + 2H,(gF=CH,4 (g) AHjpgg = =74 8 kJ/mol
2) TE-I™W COz{g)+ 2H0(IF=CHy (g)+ 205 (gl AH 598 = 890 4 kJ/mol
(3) SerFiEw-g 2H,0(1) = H* {ag)+ OH™ (ag); AH" = 57.32 kJ/mol
@) faema-sm HCI - 25H,0=HCl{(g) + 25H,0({); AH®= 69- 5 kJ/mol

48. Which of the following reactions is incorrect match for the named reaction?

Reactions Named reactions
(1) 2CHZCHO (4dil. HCI and heat )= CH3CHOH—CH,CHQO Aldol condensation
(2) 2HCHO + NaOH ( heat }= CH30H + HCOONa Cannizzarc’s reaction
(3) CgHg + CH4CL { Anhyd. AlCly }==CgHsCHy + HCI Friedel-Crafts reaction
(4} CH3COO0CHj + NaOH=CH4COOH + CHzONa Saponification reaction

= @ g A @ F-w de Aww-wrfulem o afifrn & o e d@ T 27

ffFa T i
(1) 2CH;CHO (73 HCl aut mf) =CH3;CHOH—CH,CHO uegTel HITA
{2) 2HCHO + NaOH (mf)==CH40H + HCOONa Fhemr srfufsran
(3) CgHg + CH4CL (@) AICly )J=CgH5CH4 + HCI frea-wRE wrfyfsn
{4) CH3ZCOOCHj; + NaOH==CH4COOH + CH;0ONa ATRbIbTA st

(358) 17 (P.T.0.)
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49. Which of the following is true for acid-base theories?
(1) According to Bronsted-Lowry an acid is a proton acceptor
(2) According to Bronsted-Lowry a base is a proton donor
{3) Lewis acid is an electron-pair acceptor while a base is an electron-pair donor

{4) Lewis acid is an electron-pair donor while a base is an electron-pair acceptor

& @ ofe-aw & fedl & ar § ol 27

(1) Fads-aid & ogan g Wem &= h ¢

(2) Figes-wi{ & JER IW W T 8

(3) wfve e o WRH-gm el 2 e 3w w3 2
(4) oifem s ©F wR-gW T 2 9 I T @wi-Tw EE R

50. Which of the following sequences is incorrect for monosaccharide, disaccharide and
polysaccharide respectively?

(1) Glucose, fructose and sucrose (2) Glucose, sucrose and starch
(3) Fructose, maltose and cellulose (4) Fructose, sucrose and cellulose
Ha fed gu MdeEs, SRdaaEe ot Wieildme ¥ fe wmwgan SR-wn Tew 27
(1) =g, e R gt (2) FS, FF AR

(3) WA, weers ot S (4) WS, ERE M A

(358) 18
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Section—III

wue—IIl

PHYSICS and MATHEMATICS

(Physics)
51. Dimension of torque is
JogW Tqu w fam g3 R
(1) MLT! (2) ML*T 2 (3) MLT~? 4) ML3T 2

52. The spiral galaxy is about 2x10°% km away from us. In light years, this distance is
e g 2x10° feorfo & gt W R waw @ § ww gh vt

(1} 2-1x10° 2} 3-2x10° (3) 3-6x10° (4) 4.-2x10°

53. A mass M attached to a spring oscillates with a period of 2 sec. If the mass is increased
by 2 kg, the period increases by 1 sec. The value of M is

(1) 3 kg 2) 2 kg (3) 16 kg (4) 26 kg

FON A TG W U M 2 Yo F WA HA T YW T R| W wEn 2 Fofte § W@ & S
o 3w mad w1 Vo ¥ 9 WwT Bl M W WA R

(1) 3 fPomto (2) 2 FRemmo (3) 16 oo (4) 2-6 fHomto

54. A boy drops a stone from the rim of a well which is 5000 ft deep. Ignoring air
resistance, the time during which the stone hits the bottom of the well, is

{1) 126 sec (2) 176 sec (3) 204 sec (4) 362 sec

(358) 19 (P.T.O.)
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55-

56.

57.

(358)

TF TSH 5000 FZ TR F¢ I FH gow ¥ v ver fiwen 21 IR g % uighd # e A
s, & F¢ A TG v e ¥g TR g0 o e R

(1) 126 Ro (2) 176 Ve (3) 20-4 o (4) 362 Ho

A projectile was fired at 35° above the horizontal. At the highest point in its trajectory,
its speed was 200 m/sec. The initial velocity had a horizontal component of

(1} 200 cos 35° m/sec (2) 200 sin 35° m/sec
(3) 20050 m/sec (4) 200 m/sec

wF ad A & 35° ® FW W) @ bW W@ R W™ F I=9@m g wogwh
200 o /To an IRMEEE aAm F1 Afdst wam o

{1) 200 cos 35° Hio/To (2) 200 sin 35° #io/do
@ —=20_ o/ (4) 200 Ho/Fo
cos 35°

The distance from the surface of the earth to a point, where acceleration due to gravity

is %, is (Rg = radius of earth)
gﬁrﬁmﬁmﬁgaﬁq\ﬂaﬁgﬁam%am% (Rp = 32 Y firsw)

R
1) == (2) —22 (3) Rg (4) 2Rg

A particle executes simple harmonic motion at a frequency of 200 cycles/sec. The time

required to move from the mid-point to x =§ {half of maximum displacement) is

(1} 4-17x107* sec (2) 5x1072 sec
(3} 2:5x1072 sec (4) 3.2x107* sec

20
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@wzoomﬁﬁ!/ﬁiﬁmﬁﬁwmnﬁwm%inw—%@ﬁng(aqﬁ:mn
foremT #1 arn) 9% "X W W g

(1) 4-17x107% o (2) 5x107° Ho

(3) 2.5x1072 Bo 4} 3-2x107% @o

A small motor is used to operate a lift that raises a load of bricks weighing 800 N to a
height of 10 m in 20 sec. The minimum power the motor must produce is

Th B At §8 f ges # W e ® o 9w 800 o wr A & A 20 qe F 10 who
SR 0% oW1 21 AR FN I f W frmem wlke R

(1) 400 W (2) 800 W (3) 1600 W (4) 2000 W

Water flows over Windham fall which is 128 m high, at an average rate of
1-4x10°% kg/sec. If half of the potential energy of water is converted into electrical
energy, the power produced is

Il foven seEd @ S 128 e e R, B wr § ofR @Ed A oftem R 1-4x108 FRome /e
2 R Ut B Rfaw et B oo am & R ot A ufefia e e R, @ e W
wft ]

(1) 426 MW (2) 879 MW 3) 934 MW (4) 1012 MW

Two satellites of masses M and 4M are orbiting a planet in orbits of radius R. Their
periods of rotation will be in the ratio of

MR AM ol % Q@ 3w R B & & 3§ @ 18 ¥ wld ol yma €| 3% onad @
= o ¥ g

(1) 4:1 (2) 1:4 (3) 1:1 (4) 1:2

21 (P.T.0,)
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61’;

62.

63.

64.

(358)

The specific density of gold is 19-3. If a crown made of pure gold, weighs 8 N in air, its
weight in water will be

wof w fiffy o 19-3 R1 PR Y@ W H G T TH O TN H 8 o WK @al g, ql
IGH AR UHT H ORI

(1) 613 N (2) 721 N (3} 759 N (4) 8 N

We can hear sound of minimum frequency 20 Hz. If the speed of sound in air is
340 m/sec, the wavelength corresponding to it will be

(1) 85 m (2) 104 m @) 170 m (4) 200 m
T A 20 & f gAaw g f @ gF e E R ' A @l @ 3w 340 o /Fe R,
A s quie dm

(1) 85 e 2) 104 o (3) 17-0 o (4) 200 o

The frequency of the horn of a car is 400 Hz and its speed is 34 m/sec. The frequency
observed by an observer stationary in front of the car is

TH FR % §H @ N 400 g6 & 3l &l fy 34 fo/Te B) wR F g R Y g
ght 5 smgh &

(1) 356 Hz (2) 400 Hz (3) 444 Hz (4) 482 Hz

A concave mirror has a radius of curvature of 3 cm. The distance at which an object
must be placed in order to give a virtual image magnified 5 times is

(1) 12 cm (2) 16 cm (3} 1-8 cm (4) 22 cm

T A 0 f ama B 3 dorfto ¥ @ g w1 Al B W o wg # zdw % @wn
@ WY i IS FeAHE o 5 T wer fw?

(1) 12 Borto 2) 16 oo (3) 1-8 Worfto (4) 22 Hotfto

22
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A convex lens has radii of curvature 20 ¢m each. If the refractive index of the material
of the lens is 1-3, its focal length is

(1) 10 cm 2) 20 cm (3) 90 cm (4) infinity

UF IO qE hl T gshdl BRI 20 Holflo ¥ A F ugd W wdAs 15 B, @ d«
wE gl R

(1) 10 oo (2) 20 Aorhlo (3) 90 Fotfo (4) s

A convex mirror has a focal length f. An object is placed at a distance f in front of it, its
image will be formed at

(M f 2) g @) 2f (4) infinity
gﬂmﬁmﬂqﬁw{ﬁf%lmmf@mwamtﬁgé%,mﬁmﬁmqﬂm

(1) f 2) 3y 2f (4)

N

- -
If two nonparallel and nonzero vectors A and B are equal in magnitude, the angle

- .
between A+B and A-B is
-2 .l e - -
IR g AR R e ufgw TRt A ot B @ WA e B, @ A+B 3N A-B % #®

T HO B
(1) 0° (2) 45° (3) 90° 4) 180°

If the r.m.s. current in a circuit is 1-41 A, then the maximum current in the circuit is
FR at wrere 9w o giwy ¥ 1441 A R, @ oiey § Swem aw

(1) ¥2 A ) -1—;/%—1-1\ 3) 2A (4) 22 A

23 (P.T.0.}
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69.

70.

71.

(358)

Two point charges of +2C and +6C repel each other with a force of 3 N. If a new charge
of -4C is given to each of these charges, then the force will be

+2C 3R +6C F 3 fog oMW 3 Fo F 7@ ¥ W W W N Fd R wH ¥ w1
T T W AR -4C F W@ fam S, 9 5 @

(1) 1N (2) +2 N (3) -3 N 4) -2 N

The net resistance between A and B in the following circuit is

fr oy § A ot B & 9 qfomdl shdyg gm

30
450Q
6Q
45 Q

90
A B

90

(1) 9 Q (2) 45Q {3) 13:5Q 4) 18 Q

A gas at pressure P, volume V and temperature T has a mean free path A. If the gas is
isothermally compressed to a volume %, the mean free path will be

TE P, WEGH V A 9HH T W T 18 H wieg @ad g0 A ) R AW R gwd g@e W

%mmmﬁmm?ﬁ,mmﬁaqﬁ@ﬂﬂ

A

(1) A @ 32:— & -

4) 2

%)

24
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The decay constant of a radioactive sample is A. The half life and mean life of the
sample are given by

w eedfl wgrd W awor fms A 21 wee] Ft o oy o eitwa oty gl

(1) 1 ang 2 @ ©82 ;nql
AR A A

@) — and X (4} Alog2 and A
log 2 A

The ratio of the radii of the electron orbits for the first excited state and the ground
state of the hydrogen atom in Bohr’s model is

IR e # TEEOA T F WEA F A 9w W9 wR AR e st ' B ot hi
Breaett &1 egem @

(1) 2:1 2) 4:1 (3) 8:1 (4) 16:1

The kinetic energy of an electron moving speed 0-6¢ when rest mass energy is
0-511 MeV, is

T ot F RS Tt s ¥ AR 9R 0.6¢ A & T@ W 2 o swht f¥mmn et 0511
MeV 27

(1) 0511 MeV (2) 0702 MeV (3) 0128 MeV (4) 0214 MeV

Which of the following elements is most suitable for serving as donor impurities in
Germanium?

(1) Silicon (2) Magnesium (3} Gallium {4) Phosphorus
wfifrm § fr= § ¥ @ 9@ g onlfg % w9 § e 3§07
(1) fafesm (2) HmftEm (3) Aferam {4) wieR"

25 (P.T.0.)
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76.

77,

78,

79.

(358)

(Mathematics)

Ifa>1 b>1and p=w, then a? equals

log, a
R a>1l b>1 3R p=log—b(loﬁ9—], E qf sUR R
log;, a
{1) 1 2) b (3) log, b (4) log, a

If the solutions of the equation x? + px +g=0 are the cubes of the solutions of the

2

equation x“ +mx +n =0, then

ofe wfidr x2 + px+q=0 % € THHEW x2 +mx+n=0 % T W@, @A
3
(1) p=m®+3mn  (2) p=m®*-3mn (3 p+q=m° (4) (_’:11) =§

Let f{x)=|x-2|+|x-4]|-|2x-6]| for 2 < x <8. The sum of the largest and smallest
values of f(x) is

Y flx)=]x-2|+]x-4]~|2x-6], 2<x<8, W f(x) % W T X T B2 AN H
I ¢

(1 (2) 2 (3) 4 (4) 6

The equation of normal to the curve y =cosec x at (0, 0) is

f&g (0, 0) W TH y =cosec x ¥ @ H FhwEW R

(1) x=0 2 y=0 (3) x+y=0 (4) x-y=0

26
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83.
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The range of the function
_ -1 {\/2x2 + 1]
y=cos | —5——
x°+1

is

Teld
y:cgs_l i{cii_._];
x2+1
Ealk o
M 10,5] @ [‘%%"} @) [0%} @ [-m )
The value of

2 _ 2
J'xe"dx
is

fxe“"gdxwm%

1/{1 1 1{1 1 1 1 1 1
w3ew  @lEa) e @ 2(5+ 5]

If sec {0 +a)+sec {0 —a) =2 sec®, then the value of cos 9 is equal to

g sec (6 +a)+sec (0 ~a)=+/2sec®, W cos6 F AN TR T

{1} iﬁcos% 2) +v3sina (3) ++2sin2a (4) ++2 cos 3

The vertex of the parabola x? +8x+12y+y =0 is
TEA x2 +8x+12y +y =0 % W §
(1} (-4.1) (2) (4, -1) 3) (-4-1) 4} (41

27
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84.

85.

86.

87.

(358)

If a+b+c =0, then one root of

a—x c b
c b-x a |[=0
b a c—-X
is
e a+b+c=0, o
a-x ¢ b
c b-x a =0
b a c—X
H UF g9 §
(1) x=1 (2) x=2 @) x=a?+b%+c® (&) x=0

A single letter is selected from the word ‘KURUKSHETRA UNIVERSITY . The probability
that it is vowel is

W% ‘KURUKSHETRA UNIVERSITY' # @ U%F g0 & T w4 & il 2

(1) 5 2 % @) & @ L

The common difference d of an AP, whose first term is unity and whose second, tenth
and thirty-fourth terms form a GP, is

T TAFR Al e 99 18 TF R 91 g, 6 SR Sifoed 98 W R Aof s €
=R W d @

(1) d=¢% (2) d=1% @) d= (4) d=1

If P(A)=0-3, P(B)=0-25 and P(AnB)=0.2, then P(A/B) is
afe P(A)=0-3, P(B)=0.25 3R P(AnB}=0-2, 7@ P(A/B) %

(1) (2) i

Tt [
r.n|w

(3) 12 )

—
==
als

28



10U/102/22 Set No. 1

88. The greatest term of the expansion (2x +5y)!3 when x =10, y =2 is
=TF (2x +5y)!? * fER #1 TeR € x =10, y=2, 99 B
(1) 13C5-20%.10° (2) 13C4-207-10%

(3) 13C,-20°-10* (4) 13C;-20°%.10°

89. The value of

Iﬂf“ sin x +cos x
0 25+144sin2x

is

x/4 i
J-! s1nx+cr::sx deFrITFI%
0 25+144sin2x
1
(1) Zlog, 5 (2) izloge 5 (3) =5log, (g] (4) 45log. S
3
90. lim Y8*n-2 i
n—0 n
3
lim V8+n -2 2
n—=0 i
(1) & @ 1 3 4 4) 2
O1. Let
s :_1H+ 142 e 1424+ +n
13 13408 13423 4. 408

Then 8, is not greater than

s, =L 1¥2 1+2+"'+"3,ei’rsn fered wrgr w22

13 13408 124228 4. 4n

1 3 (2 3 (3) 2 @) 4

(358) 29 (P.T.0.)
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92, AUV({BNC)is equal to

AU(BANC) TR 8

(1) (AUB)~{AUC) (2) (ANB)U(ANC)

(3) (AUB)U{AUC) (4) (AnB)N(ANC)
93. The value of cos™} %%*2 tan™! % is

cos™! g-g-+2tan'1 % F A ]

(1) sin'I% (2) cos™ 3 (3) tan'l% 4) cos‘l%
94. If f(x)=tan™![cos x/(l+sin x)], then f'(x)is

e f(x)=tan ! [cos x/(1+sin x)], A f'{x) B

2 (ram=1 12
-1 X7 {tan _ x)” 2 X
(1) -3 2) > {3) 2 (4) tan )

95. If the sides of a triangle are 13, 14 and 15 cm, then the value of r is
e T Pige i @l wEw: 13, 14 3 15 Aofo B, W r = WA R

(1) r=4 cm (2) r=5cm (3) r=6cm (4) r=2cm

96. The value of -t 78 —sin 50 is
cos 76 +cos 50

sin 70 —~sin 56

T OAE 2
cos 70 +cos 50

(1) ~tan® (2) tan® (3} cot® (4) —cot®

(358) 30
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97. Ifrn>ry>r; in a triangle, then its sides g b, c are such that
Iz faeft fyw & r1>r2>r3,?ﬁ3'ﬂ?ﬁ'rﬂﬁiﬁa,b,cwm§ﬁi

(1) a<b<ce (2) a<b>c 3) a»b>c 4) a>b<c

98. The line y =mx +¢ touches the parabola x? = 4qay if
A W y=mx+c Taed x2 =4ay F W =@ ¥ IR

a 2

(1) e=am (2) e== (3) c=am 4) c=-am?
m
99, Ifz= i+g!:, then the value of z2% is
— 2l
o z=143 @ 22 w2
1--21
(1} 2% (1+1) 2) 2% (1-1) (3) 2% (4) 2244

loo. If ® is an imaginary cube root of unity, then the wvalue of
(p+q)® +(po+qo?)® +(po® +qu)° is

M o E | FearF wE B, @ (p+g)’ +(po+ge?)® +(po’ +q0)° T AW R

(1) p3+4° (2) 3(p®+q°)

() 3(p®+g®)-pg-g?p 4) 3(p%+q°)+p2q+g°p

(358) 31 (P.T.O.]
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101.

102,

103.

(358)

Section—IV
wug—IV
BOTANY and ZOOLOGY

(Botany)

Khaira disease of rice is an example of disease caused by

{1} iron deficiency (2) zinc deficiency

{3) copper deficiency (4) magnesium deficiency
wad & @iga I e # @ R e @ Iwm I # IgEw #7

(1) = (2) wwm (3) dfan (4) AARrm
Alleles are

(1) self-fertilizing true-breeding homozygotes
(2) different molecular forms of a chromosome
{3) different molecular forms of a gene

(4} genetic materials of nucleolus

et §
(1) @-Fa=s -5 ememe (2) @ wa ¥ fafm amoes @
(3) =k ST & fafim onufas == (4) FH & AgEEE Tgd

Viruses are considered nonliving because

(1) their nucleic acid does not code for protein
{2) they cannot reproduce independently

{3) they do not mutate

(4) they do not move

32
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105,

106.
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faapedt & fsffa wen s 2, =i

(1) 3 gfaer 37a WA w1 yfatfaa 78w

(2) 3 = 9 ¥ AEAIGA A I qHR
(3) 3 ol ad B
(4) 3 i = B9

A mycorrhiza is a

(1} fungal disease of root

(3) mycoplasma disease of root
gt 2

(1} S & Tk & U4

(3) Vg T T HIFHITCSH UM

A seed contains
(1) a zygote

(2) an embryo

(3) stored food

(4) both an embryo and stored food

Th AW A ghfed g e
(1) % S
(3) AT AER

Plant growth depends on
{1) cell division

(3} cell enlargement

33

(2)
(4)

(4)

(2)

(4)
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bacterial disease of root

fungus-plant root association

Sg # & et In
FIH-9ET g AETd

TF YU
w yu w ghue emen g

hormones

All of the above

(P.T.0.)
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At w1 B oafm 2

(1) wim fmes w (2) THA T
(3) =iy fada = (4) Ie o
107. Abscission occurs during
(1) seed germination (2) senescence
{3) dormancy (4) fertilization
faer fohg T uied e 27
(1) e st (2) fortawn (3) wgfw (4) fa

108. Spraying some plants with a combination of auxins and gibberellins
(1} promotes formation of parthenocarpic fruit
(2) prevents senescence
(3) promotes fruit ripening
(4) kills broad-leaf plants
FO U W oAfeer g Neifem % fasm = fogewm
(1) s wadf % frem § gers @ 2
(2) Shofeeen & s=mar @
(3) wAl *F THA N TEHAT Fal 2
@) =R Tdl I Wi B T W R

109. The best fibre of jute is

(1) secondary phloem of stem {2) secondary xylem of stem
(3) ground tissue of stem (4) cortex of stem

¢ F Ga%E g R

(1) & 1 fgfas wi Q) T = fefras sgam

(3) @™ # = T (4) T F B

(358) 34
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The crop Brassica nigra belongs to the family

(1) Brassicaceae (2) Tiliaceae

Figeer fm e W R qfEr @ 87
(1) widemret (2) Tefqem

Early blight of potato is caused by
(1) Phytophthora infestans
{3) Alternaria solani

s & wifie wen AT F: FE 3
(1) FEAFIT &G
(3) oeeEf grert

Nitrogen fixation in rice field is done by

(1) green algae

(3) red algae

(3)

(3)

(2)
{4)

(2)

)

(2)

(4)

Malvaceae (4) Asteraceae

Arerane (4) TR

Albugo candida

Pythium aphanidermatum

segTt Fiser
BT TEiHsden

blue-green algae

brown algae

aF % @a § Agaen o A feass g e s 27

(1) &0 S (2) “rar-sa S

(3)

e Srane (4) T d=E

Central Sugarcane Research Institute is situated at

(1) Coimbatore {2) Lucknow
FT T WY SR el SO 27
(1) ®rTEg (2) TS

(3)

(3)

Bhopal (4) Bhubaneswar

e (4) e

(P.T.0.)
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114. One of the major ‘Basmati’ rice-producing States in our country is

(1) Andhra Pradesh (2) Kerala

(3) Karnataka {4} Uttar Pradesh

TR 3 A T’ Wee W W@ SEeE 59 HE-a 87

(1) 379 wew 2) Fw (3) FiH (4} IR W™

115. Bordeaux mixture contains
(1) copper sulphate, lime and water
(2} copper carbonate, magnesium sulphate and linseed oil
(3) copper chloride, sodium carbonate and water

(4) copper oxide, ammonium chloride and water

sigqq fizm # T wfia @ 27
(1) HR Tehe, 91 @ o (2) W FEe, ifo gehe @ el ¥w
(3) HIW FAES, WMfEIH FEHE W& A (4) R sifFaEe, AmFan w6058 @ @

116. Claviceps purpurea is the causal organism of

(1) smut of barley (2) rust of wheat

(3) ergot of rye (4) powdery mildew of pea

Fifaaw RYhar fra #ra o }7

(1) st + B 2) =™ (3) T @ wie (@) W fir wEd

117. Soil fertility is reduced by
{1} crop rotation {2) decaying organic matter

{3} nitrogen-fixing bacteria {4) intensive agricultural practices

(358) 36
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frrfofea § @ fred ger 6t Id@ w2 ST 87
(1} oA (2) Sfer vy 1 e
(3) msgrem AfirhERe Sfarg (4) T FN IUFT

The fruit of mango is

{1} drupe (2) berry {3} pepo (4) pome
T A B
(1) g9 (2) = (3) I (4) @

The scientific name of paddy is
(1) Oryza sativa {2) Brassica nigra

(3) Triticum vulgare (4) Lycopersicon esculentum

UN % QA H AT AW R
(1) oitfs dfear (2) Ffr far (3) Rfww s=m (4) ETEFAEFT TFAH

Which greenhouse gas other than methane is being produced by agricultural fields?
(1) Nitrous oxide (2) Ammonia
(3) Sulphur dioxide {4) Arsenic trioxide

F A g e % afofer Fore fiveew o+ saem T w1 @ R7
(1) 3@ RS (2) @

(3) HeH SRATFARS (4) R IEeTFAES

Greatest problem in water conservation is to reduce the amount of

(1) groundwater {2) precipitation (3) runoff water (4) evaporation

37 (P.T.O.)
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122.

123.

124.

125,

(358}

I o § ged o goen e @M i 27

(1) ¥y s (2) T (3) WFEHE S

(4)

The increase in crop yield with green manure is approximately

T wE ¥ oW & Iaed A amn fE gfg B oo asdt 27

(1) 1-10% (2) 10-20% (3) 30-50%

The centre of origin of wheat crop is

{1} Brazil (2) Peru {3) Ethiopia
T wH W I HR R
(1) Fwia (2) ¥E (3) 3femiTmE

Indian Agricultural Research Institute is situated at

{1} New Delhi (2) Lucknow (3) Dehra Dun
R FY WY Ty wE omer §7
() & g (2) wET= (3) <Eeg

The edible part of Pisum sativum is

(1) cotyledon or seed (2) fruit

{3) leaf (4} root

fowg dRam = 9~ ww @

(1) FER e i (2} wa

(3) wferaf (4) e
38

)

(4}

(4)

(4)

@)

60-80%

Central Asia

ey ufgRE

Coimbatore

AT



126.

127.

128,

129.

(358)

Lamprey belongs to the genus
(1) Clarias
A form 9w A gy @ 27

(1) Ffag (2) Frere™

Foramen magnum is found in

{1) skull {2) vertebra
EHA BN RN ST R
(1) @ o (2) *ee d

(Zoology)

(2) Protopterus

Archeopteryx is a missing-link between

(1) birds and mammals
(3) reptiles and mammals
FAfhALRF & gr w9 ]
(1) uzft ok e & A= A
(3) wiyu ot waud ¥ g 3§

Placoid scales are found in

(1) fishes (2) reptiles
WHTS Wl T I |
(1) woet A (2) wlgy #

39

(3)

(3)

(3)

(3)

)
(4)

(4)

(3)
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Hippocampus  (4) Petromyzon
fendraa (4) SgmEEA
femur (4) tibia
srfder 3 (4) oTasifEm
reptiles and birds

Amphibia and reptiles

gy o uaft & = §
IR R Ty & d9 §

birds (4} frogs

geft A (4) e o

(P.T.0.)
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130.

131,

132.

133.

(358)

Hium is the part of
(1) pectoral girdle

(3} digestive system

o wh 9w R

(1) T TRew w1 (2) ufeas wf¥w =

Graafian follicle occurs in ovary of
(1) mammals (2) birds
e wifefre fro oo & @ 27

(1) Tarh (2) ush

Odontoid process is found in
{1) atlas vertebra of rabbit
(3) thoracic vertebra of rabbit
ASr<igs Naw fred wRn st @
(1) SN F oy FAeF o

(3) wOnw & oufas wdww o

The flying lizard is

{1} Draco (2) Chameleon
FgAaren forerd @
(1) 3# (2) ¥Aferm

40

(2)

(4)

(3)

3}

(3)

(3)

(3)

pelvic girdle

synsacrum

KlEccefic) 4) ToawEm =
frogs (4) reptiles
e (4) whge

axis vertebra of rabhit

lumbar vertebra of rabbit

GO & U s o
TONY & TR FI5F o

Hemidactylus (4) Heloderma

gHIST g (4) gerreHt
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134. Entamoeba coli is an example of

(1) coelenterates (2) prokaryotes

(3) pathogenic protozoan (4) non-pathogenic protozoan
G I Th IR B

(1) Redem @ (2) WrkfelgE =

(3) d=f MANem M| (4) TE-taRe MR w

135. Which one of the following is a fish?

(1) Starfish (2) Jellyfish (3} Silverfish (4) Lungfish
frfafas & @ 919 & "ot €7
(1) it (2) wefiften (3) faefen (4) wfEm

136. Clitellum in earthworm is present in

(1) 13-15 segments (2) 14-16 segments
(3) 15-17 segments {4) 14-15 segments
FYoT N FeNseE Ul W ®

(1) 13-15@S ¥ (2) 14-16 WSt & (3) 15-17 @S & (4) 14-15 @ A

137. Parapodium is locomotory organ in

{1) Nereis (2) fish (3) Peripatus (4) crabs
Taifemm g gwem o 27
(1) Mg (2) et (3) 9w (4) S=w

(358) 41 (P.T.0.)
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138. In Echinodermata the important larval form is

(1} Bipinnaria (2) Trochophore (3} Cercaria (4) Amocoete
TESHe o wewye fimes w9 2
(1) =wfRfen (2) FrRIBR (3) i@ (4) waR

139. Piercing and sucking type of mouthparts occurs in

(1) mosquitoes (2) housefly (3} butterfly (4) cockroach
FrfRm e affm wer &1 g R g S 27
(1) 7= # (2) W wwdt # (3) foaeht # (4) de=m W

140. Mendel’s laws were rediscovered in
ied % froul 1 @ @9 ww g?

(1) 2000 (2) 1906 (3) 1899 4) 1900

141. The nitrogenous base uracil occurs in

(1) RNA (2) DNA
{3) RNA and DNA both (4) proteins
e Sw e el g S 27

(1) 3IMoWolTo ¥ (2) Powouo A
(3) MoTHoTo qel HoToTo FHl # (4) 9= 3§

142. Mobile genetic elements were discovered for the first time in

(1) Drosophila (2) maize {3) bacteria (4) viruses
FEAYIY W SAeF a9 rad @en mm oar?
(1) Ffden o (2) 7= # (3) aFAfan (4) am@ #

(358) 42
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143. Coupling and repulsion hypothesis was proposed by

(1) Bateson and Punnett {2) Morgan

(3) Muller {4) Sturtevant

Fafem R fgem @1 fagra foeer gro wioafan gane

(1) 9284 @ e (2) WA @) qTW (4) wdfdae

144, Mendel conducted his experiments in
(1) Mirabilis jalapa (2) Lathyrus odoratus
(3) Pisum sativum (4) Qenothera lamarckiana
Wed A I i el R T
(1) frofafors somm (2) @ffR@ sisRew (3) fiaw dfZaw (4) g AaEarm

145. The phenomenon of sex-linkage was demonstrated for the first time by T. H. Morgan in

{1) Drosophila {2} human {3) mouse (4) moths
Fo tgo TP TR HaAWYR 1 gEawar f wewr Ty widft e
(1) gl (2} wg= (3) =& (4) ™

146, Mutation theory of evolution was proposed by

(1) de Vries (2) Bateson (3) Huxley (4) Darwin
frrm =1 wRww fugm el wefae fene
(1) @ e (2) wEq (3) T (4) ziff=

1477. ‘The most important property of water which is needed in the body is
(1) it is tasteless (2} it cools the body

{3) it is an universal solvent {(4) its O, is used in cellular metabolism

(358) 43 (P.T.0.)
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148,

149,

150.

(358)

9 # g aeel o S v ¥ fa omaveE §

(1) weredm 3}
(2) TR ® d& WA R
(3) ¥8 ghedw wwde R

(4) TE SNfFdie RFRT I § FH A 2

Which one of the following is universal donor?

(1) AB blood group
{3) A blood group
frafafaa § & #iv ghada o §

(1) Uodflo TF TR
3} T W WE

Master gland of body is

(1) liver (2) pancreas
wiit Y e Oy 2
(1) wFa (2) Aetisherrst

Polyploidy is more common in
(1) annelids {2) birds
T s B 2

(1) whitrgw A (2) usht ¥

44

(2) B blood group

{4} O blood group

(2)

(4)

(3)

3)

3)

(3)

o & TR
aﬂoﬁﬁﬂtﬁ

pituitary

plants

el #

{4) thyroid

(4) uaTEE

(4} mammals

4) Rl



151.

152.

153.

154,

(358)

Section—V

Tre—V
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AGRICULTURE

In Dapog method of rice cultivation seedling becomes ready for

(1) 20th day (2) 18th day (3)

19th day (4)

9 I A s fBafr F du ¥ fou dw Gam & 9 R

(1) 20 Tt & (2) 18 et o (3)

The maize protein is called

(1) gluten (2) zein (3)
T3 #i W B Fed |
(1) e (2} s (3)

One cusec of water is equivalent to
(1) 3000 LPM {2} 1220 LPM (3)
TF FOF T hgH ST 27

(1) 3000 Taredoudo (2) 1220 TeodiouHo (3)

The botanical name of Marconi wheat is
(1) Triticum dicoccum (2)

(3) Triticum monococum (4)

45

19 fai & (4)
albumin (4)
aTeeg i (4)
1940 LPM (4}

1940 TdodioWlo (4)

Triticum aestivum

Triticum durum

transplanting on

12th day

12 fat o

lysine

1780 LPM

1780 TAodiouHo

(P.T.0.)
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155.

156.

157.

{358)

R W e Tm R
(1) RRen fewlwg () RBfew dewn
(3) Rf=q wtFE ' 4) BR*w =

The maturity of fibre in cotton is judged by

(1} hydrometer (2) anomometer {(3) arealometer (4) barometer

FOH 5 I A giuFar R & g A JIEt 27
(1) TEEHR (2) TR (3) TR (4) arfie

Triticale is a cross between

(1) wheat and barely {2) barely and rye
{3) wheat and rye (4) wheat and oat
fefera wim 2

(1) ¥ of st & (2) <t ofit ud # (3) ¥ ot w @) 7 i =i #

The strongest chemical agent for breaking dormancy is

(1) potassium nitrate (2) ethylene

(3) gibberellin {4) cumerin

guae Fl gt F oy smufus wEwel TeRRe T ®

(1) RfRmm Az (2) PR (3) Refm (4) TAfm

46
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158. Phalaris minor weed in wheat crop is controlled by

(1) alachlore (2) simazine (3) isoproturon (4) atrazine
TR wEa ¥ TR AR R TRt W e fEla e s @7
(1) TR (2) i (3) AR (4) A

159, The rotational intensity of maize-potato-barley-green gram. crop rotation is
el § wEr-aael-sh - wuel § v v g R
(1) 300% (2) 400% (3) 500% (4) 150%

160. Which of the following crops requires more water?
(1) Paddy (2} Maize (3) Sugarcane {4) Cotton
FH- ffafgs wae aifiss ot =l 27

(1) == (2) 7= {3) ™ 4) ™

161. Hulling percentage of rice is
g ¥ e w1 glwE far 2

(1) 60 (2} 65 (3) 70 (4) 72

162. Seed rate of hybrid maize is
(1) 10-15 kg/ha  (2) 20-25 kg/ha (3} 35-40 kg/ha  (4) 40-45 kg/ha
TR HEl W ofist g fRat §7

(1) 10-15 oo /o (2) 20-25 fFomo /B0
(3) 35-40 FFomo /R0 (4) 40-45 fHomte fRo

(358) 47 (P.T.0.)
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163. The most critical stage for irrigation in potato is

(1) tuber formation (2) 25% tuber formation
(3) stolom formation (4) 50% tuber formation
e i e § v T sEen - @ 20

(1) TR T W (2) 25% TgR TN W

(3) V" FH W (4) 50% TIR o3 T

164. Phyllody is the serious disease of sesamum caused by

(1} bacteria (2) fungt (3) MLOs (4) virus
fredl e f s wl @ &Y 6 Fre amor @ @ R
(1) STy (2) FF (3) WouFoo (4) Formg

165. First variety of mustard developed through biotechnology by somatic hybridisation is

(1) Pusa Jaikisan (2) Kisan (3) Pusa Kalyani (4) M-18
s gl & TRkes ou el ot 6 wom fem 2
(1) qEn SEfRar 2) fFm (3) T woamft {4) W-18

166. The most ancient type of garden is

(1) floating garden (2) Mughal garden

{3) Japanese garden (4) kitchen garden

wiR f weivay fafy @

(1) ¥ T & (2) g | (3) SO @ (4) TEafem

(358) 48
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168,

169.

170.

171,

(358)

Pungency in chilli is due to

(1) glycoprotein (2) capsanthin (3) capsicin
fid & famm fF wRo @ 27
(1) TR (2) *FwdRA (3) Fifm

The centre of origin of tomato is

{1} Peru and Mexico {2) Mediterranean
(3} India (4) China

TR F @ IQM WH 3

(1) % o afFs  (2) ARRfEA (3) W@

Anthesis in okra takes place from
(1) 5Sto 7 am. (2) 8 to 10 am., (3} 3 to 5 p.m.
ot & q v e R

(1) 5-7 =: 2) 8-10 wm: (3) 3-5 @

Which one is a monocot vegetable?
(1) Carrot (2) Fenugreek (3) Painted gourd
& ¥ = desie w9 27

(1) TR (2) 96 (3) waEw

Which one of the following is used as trap crop?

{1) Okra (2) Potato (3) Onion

49
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(4) cucurbitacin

(4) FFfRRA

(4) ==

(4) 5 to 7 p.m.

(4) 5-7 ¥

{4) Colocasia

(4) ==

(4) Brinjal

(P.T.0.)
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172.

173.

174.

178,

(358)

frea & @ ¥ 29 w0 f W@ IWE S RY
(1} fiod (2) A (3) == (4) a5

Select the variety of brinjal from the following which is round fruited
(1} Pant Samrat (2} Pant Rituraj
(3} Pusa Purple Cluster (4) Pusa Kranti

MY TR & A7 & e fefafaa & @ 959 27
(1) o4 TR (2) T HgS (3) T WA TR (4) @ HI

Seedlessness in water melon takes place due to following reason

(1} Parthenocarpy (2) Triploidy

(3} Parthenogenesis {4) Embryo abortion

g § Ao v wRw @ A

(1) ord-reprdy (2) fowaad (3) URMSHITEE (4) yqu foaarm

The edible portion of sweet potato is

{1) modified root {2) leaf {3} modified stem (4) fruit
THF<G A G 9T @l §
(1) wideme we (2) ust (3) WidERe (4) wA

Which is used for artificial ripening of banana and mango?
¥ @ T F AW I R F R R g 47
(1) K;8,054 (2) KMnO, (3} CaCg, {4) CaO

50



176.

177.

178,

179,

180,

(358)

Most heavily pruned fruit plant is
(1) ber (2) guava
refirr Fe-9e fhg &t | f St 27

(1) = (2) owEg

The inflorescence of banana is a

(1) umbel (2) catkin
F H guHd fhE JHR # grar 7
(1) 3r=a (2) FeRE

Which is a climatic type of fruit?

(1) Lichi (2) Papaya
FAARF THR W T ST R?
(1) < (2) wdtar

Bunchy top is a disease of

(1) grapes {2) cabbage
T=51 U e uTn Smen B9

(1) ¥R (2) wawish
Guava bears fruits mostly on

(1) spurs

{3) one-year old shoot

51

(3}

(3)

()

(3)

(3)

(3)

(3)

(2)
(4)
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mango (4} litchi
M (4) f=h
spadix (4} raceme
wfgsn (4) ¥Hm
Grape {4) Orange
IR (4) "
cauliflower (4} banana
permft (4) e
current season growth

2-year old shoot

(P.T.0.)
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181.

182,

183.

184.

(358)

smee ¥ %o oifEmG: TR W @ 27
(1) g8 ® (2) = dram it gfg |
(3) wh 3 gerlt oiFha Sl W (4) § af g IFRa Il |

The ratio of pollinizer and main crop in apple orchard should be
¥9 % am #§ gEr TOd i TR wEer ¥ A SguT g e
(1} 9:1 (2 1:9 (3) 1:6 (4) 10:1

How many plants of Amrapali mango can be planted in one hectare?
TF ¥R B omaueh o ¥ fRaw N I eifEe?

(1) 100 (2) 400 (3) 1600 (4) 1000

Apple is a type of fruif

(1) samara (2} achene {3) caryopsis {4) false fruit

A7 B TR w1 wA /7
(1) TER (2) whA (3) *Ffem (4). IS w

CaCO, is added to reclaim what type of land?

(1) alkali {(2) acidic (3) saline {(4) laterite soil

Howem wEtie w1 @ B v A 4ft ¥ 3gR /g wE i@ ?

(1) &R (2) r<him (3) e (4) wEEn

52
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185. Which nutrient is important for nitrogen fixation in legumes?

(1) Cl (2) P,054 3) K,0 (4) Mo
Zeeht wael # RS gRRaeT ¥ R Oves a9 w0 dEwy e }7
(1) F=A (2) wrHiRes tie (3) WeRmm stwgE (4) wifafeem

186. Soils with high pH are generally deficient in

() Znand Mn  (2) Cu and Mo (3} B and Fe (4) Ca and Mg
= floude AM Tl T ¥ fE: frwh wl Ot 20

(1) = st i (2} i o AffERm

(3) &R ok dwad (4) Ffvrm i Aviftem

187. Which one of the following is biofertilizer?

(1) Urea (2) FYM {3) Compost {4) Green algae
frafafgs # @ w9 99 3w 27
(1) e (2) MR i @ (3) TR (4) =& =

188. Pica disease in animals is caused by the deficiency of

(1) potassium {2} calcium (3) manganese (4} phosphorus
et § R sl few o i w0 @ @ R0
(1) drefmm (2) Hfaem (3) = (4) wEHRE

189. Milk sugar is called

(1) maltose (2) lactose {3) sucrose (4) ghicose

(358) 53 (P.T.0.}
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TG T B FE 87
(1} WS (2) TS (3) g= (4) e

190. Which of the protein is only found in milk?

(1) Casein (2) Glutin (3) Ricin (4) Globulin
FR-f N Faw g d W w22
(1) &M () wfe (3) W (4) TS

191, The best breed of fowl for egg production is

(1) White Rock (2) Cornish (3) White Leghorn (4) Rhode Istand Red
sig ST F fow g B s e 27
(1) &% Th (2) wiffw (3) Bge oEH (4) Uz ImgEe 1T

192, The NDRI is located at
(1} New Delhi (2) Izzatnagar (3) Hisar (4) Karnal
THoHosMoaTEo el ford 87
(1) ¥ & (2) TSR (3) fem (4) FIA

193. Karan Swiss breed of cow was developed from the cross between
(1) Holstein x Sahiwal {2) Friesian x Tharparker

(3) Brown Swiss x Red Sindhi {4) Surti x Brown Swiss

(358) 54



194,

195.

196.

(358)

ma N w1 g e s g @ fawiyg i w27

(1) a==R x wdEe
(3) W14 fem x 3 fipdh

(2) HRRA x oA
(4) gdl x s f&m

10U/102/22 Set No. 1

Which of the following breed of buffalo has highest percentage of fat?

(1) Murah (2) Mehsana

(3)

Surti

o # #0-@ fFwm ¥ gg & T@ 6 waile wmn ad 20

(1) (2) Tgaw

Native place of litchi is
{1} Neorth America

(3) India
o= w1 St e 2
(1) ST smfe

(3) W

Gestation peried of buffalo is

(1) 180 days (2) 282 days

¥a =1 iy =@ o 2

(1) 180 &t = (2) 282 fet =

55

(3)

(2)
(4)

(2)

(4)

(3)

(3)

gt

West Indies

China

T

307 days

307 &t =

(4) Bhadawari

@) W=l

(4) 350 days

W 350 =t =

(P.T.0.)
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197,

198,

199,

200.

Androdiecious form of sex is found in

(1) papaya (2) fig {3)
s el yeR #1 fom el qrn S 2
(1) wdtar (2} ¥R (3)

Citrus canker is caused by

{1) MLOs (2) bacteria (3)
Hig affy welt F e g wwor @ 22
(1) THoToHo (2) frary (3)

The national fruit of India is

(1) aonla (2) jackfruit (3)
I H TE S 2
(1} @faen (2) S (3)

Polyembryony is found in

(1} guava (2) papaya (3)
sEyul foRed ol et @7

(1) @a&e (2) dtan (3)

L&

56

rambutan

fungi

mango

citrus

99 T wa

(4)

(4)

(4)

(4)

(4)

(4

(4)

jackfruit

nematode

TFF

apple

pomegranate

Dx(358)—375



aafei & ferm frdwm

(39 Yfeam & WO TERU-U8 W a9 IW-93 F o Y8 W Fael el | Fen aw-mE W g o8 o)

10.

11.

12,

13.

14.

TE g e % 10 e % ok d @ A 5 v # woft gy s € o B
0 w2 IR dwye TR I W R gE aoha we-Rlws 3 e ywem R
380 gfeds o s o |

T oA o fererer T mEw-v3 & ofaftw, fomn @ am Wi ) wen wew Wy A T @)

IW-u e W fem T ¥y 56 7 @ WS ok 7 @ faga 1 guw IW-TF T8 W R, 9 Fo-
73 F O qewET fEw owdmi

AU STFFHI% THT ITW-UT & FHF FYF SRT-FF W 97 ¥ fauife wm w fag

IH-T F RN P R T Y 4 wgwEw Guife e w el 3w R ad W o W€
Tel-wel avgs 3 gl TH-Iiad & wuie g @ w0 ey Ifga T W ol

3o WHo Mo WA W IIHHIH WEA, WHA-IAE BN 9 W wem (AR FE @) qw wwm-ffed w
FFHAIE Ho ST afle THo HWe T Ho W whalEdl ¥ sufidhmw &1 o iy aE B

v v N @ of ufeds = fws gu wnfa € wifed N 97w agfed WIER @ WM
A S

FE-Jfaw 4 v TE & OR dafovw I A W ¥ adde ;T F defve s & R s -
T F GEq G % G 4 T g9 #9797 F ¥oH Y8 W RF T A F ogen 17 @ wer
T B

TH Y O IW F O Few T @ g9 M ) T ¥ afus R oS e w0 W oem
W W AP WY W TE IR @ A SR

wH < fF @ 9N WE g SAfed ot 9o 9@ W Ted ¢ afg o9 TR W W gWe 787 89 wred
g o wEhyy 9o F gy BF W wd gul W e de €0 W uwE wogw s il e

F Fd & ol qw-gfEs & geys & o=l o 7§ oW offtw T @ Em wi)
THE & U0 FR-JRaH @9 Sev-9F TRl WET W a3
e TEE B W Ul Wien W W Wi W A STHie e it

e g seft wlter F sgfam Wl @ W@ W R, @ aw fawafaaen gu fuife < @S, ait
BRI



	Cover-1
	IMG_0002
	IMG_0003
	IMG_0004
	IMG_0005
	IMG_0006
	IMG_0007
	IMG_0008
	IMG_0009
	IMG_0010
	IMG_0011
	IMG_0012
	IMG_0013
	IMG_0014
	IMG_0015
	IMG_0016
	IMG_0017
	IMG_0018
	IMG_0019
	IMG_0020
	IMG_0021
	IMG_0022
	IMG_0023
	IMG_0024
	IMG_0025
	IMG_0026
	IMG_0027
	IMG_0028
	IMG_0029
	IMG_0030
	IMG_0031
	IMG_0032
	IMG_0033
	IMG_0033a
	IMG_0034
	IMG_0035
	IMG_0036
	IMG_0037
	IMG_0038
	IMG_0039
	IMG_0040
	IMG_0041
	IMG_0042
	IMG_0043
	IMG_0044
	IMG_0045
	IMG_0046
	IMG_0047
	IMG_0048
	IMG_0049
	IMG_0050
	IMG_0051
	IMG_0051a
	IMG_0052
	IMG_0052a
	IMG_0053
	IMG_0054
	Cover-4
	IMG_0056



